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(et uredh

A ¥ oo ford 20T T 1 1ol HeHTE o WeR WA & Sl f9Y =1e! |l < R
=AU H Y& ! SHTee i foRivar g 7
TERTE

Which Harappan site located in India includes deposits of Hakra Ware that is typical of
settlement dating back before the early phases of Indus Valley Civilisation ?

Rakhi Garhi

T STTaT & o6 Maw frgrd (fam §g) 7 ifam srgfa = foru sermen S & vt ® a1
e freferiga o @ fore T X ufemrdrgdes e femam o 2

gireadt T
Gautama Siddhartha (Gautama Buddha) is believed to have piously meditated at which
among the following places for six years before he went to Bodhgaya for the final
realization ?

Dungeshwari Cave

frfafiga @ 9 s @ g¥aga i ugel Teiur off ?

DIEEIY
Which among the following was the first capital of Harshavardhana ?

Thanesar
FHIEMEI R TS e oh JREH, T, TAT, THEH (3T IR 35eh AU o A
Y Hafa & fo 31 37ehedt 6 T & ST ST | |

e

volume of Akbar Nama deals with Akbar’s administration, household, army,
revenue and the geography of his empire that is known as Ain-i Akbari.

Third

1851 T, e SR TS Serarent 3 fmfetfad & fore o o1 oo “weh =18 <t o fo s e
H e S &q | feham o ¢
3A9Y

In 1851, the Governor General Lord Dalhousie described which of the following
kingdom as “A cherry that will drop into our mouth one day” ?
Awadh
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6. YR TSI STTEIeH o SR Shild HATeTdl o el & feam ?
When Congress ministries resigned during the Indian National Movement ?
1939

7. 1942 ¥ foeea T g meEfSh 30T wI0E & 1Y GHSNAT A 1 TIE HE & fou g
AT ST 717 o 7

WRHE oFd

Who was sent to India in order to try and forge a compromise with Gandhiji and the
Congress by Winston Churchill in 1942 ?

Sir Stafford Cripps

8. WY =g &9 7 1944 H WIS H STETAT (INA) &t HET AT | 98 et 349 FAforfiaa o
T fope T /Shgmtia ew § fera 2 7
Subhash Chadra Bose hoisted the INA flag at Moirang in 1944. In which of the

following states/UTs that town is located now ?
Manipur

9. frm=fafgd § @ g @t 78 Wfaefas 9 9 waies o fqor § geard 961 o &9 1 JHT S
ot ?

BEICRIEC]

Which of the following rivers was historically known as the Bantwal River in the
south of Karnataka ?

Netravati River

10. WA GHOHM FTad 9 foh Gelid1 i dehiel= qohl ITHTsT § Giees dic S 9 e
TATC TG hi STAT & ST | 39 AHTSY i HefeTRad | 9 fohd T & ¥t ST ST & 2

K lratc

Indian Muslims were keen that the Khalifa be allowed to retain control over Muslim
sacred places in the erstwhile Turkish Empire. This empire was also known by which of
the following name ?

Ottoman

11. YR TR A (LN.C.) 3R 31Raet I gieam i (A LM.L.) A Tfirg *
o1 9 31U & RgeiTs 9d o 998 o foIu Tes 912 37 &1 e foha |

TGS 9, 1916

The Indian National Congress (I.N.C.) and the All India Muslim League (A.L.M.L)
decided to come together for the cause of India’s struggle against the British through
the famous

The Lucknow Pact, 1916
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12. B TIH W LT, Tl TR b 1= H3R IgHI hl 9l b i< 07 Brm & | 39 fopg a9 &

TET AT ?
At some places ground water is stored between layers of hard rock below the water
table. This is known by which name ?
Aquifer
13. firom ftrr wra & Fefafaa o 9 fovm v /Sheantad Tew | fra 2 2
TGS
Milam glacier is located in which of the following states/UTs of India ?
Uttarakhand

14. Tr=fefga @ @ o @ deen a6 T TWeTh (2130 HIW) 7, JU I8 VR 6 T

orTedt <t fR et 7 2

HTEATEAN - (AR HIfTeher Aiaiedl)
Which of the following institutions, is India’s time keeper, i.e, it monitors India’s
system of time ?

CSIR-NPL (CSIR-National Physical Laboratory)

15. YA T IR 98 forger o1 o o1 ATETe) 91en ek &, et Seae w9 fohan 8

?

83 safer wfa fopefi2
The Thar Desert of India is the most densely populated desert in the world with what
population density ?

83 people per km?

16. 8 gHfvaa o & forw fob Suget &1 @y uviesti a Tgar SU, TR 4 g
ATHTERI-TE STTEhTer (At Tet ifhfeatar Jienfdl) &t s &, o 1 femsg,
2022 | gt SHwgdt gaer@-Ueht (T iihfeaton) Reprral s Faer fra d@med gra
ST 2 2

Hieftamg (et sfaeast )
To ensure that the benefits of GST are passed on to the consumers, the government
established the National Anti-Profiteering Authority (NAA) but from 1% December,
2022 all GST anti-profiteering complaints are dealt by which organisation ?
CCI (Competition Commission of India)
17. sfawfdsded d HYV i 01 8, o ‘s ofis” i wer S g 2

I 39S a1l fore (218 e SEdt)

With reference to Green Revolution what is HYV Seeds, which are also called as
“Miracle Seeds” ?
High Yield Variety
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18.

TSR S JaY TR (NIBM) sl TITAT 1969 T FrforRea # & foroeh g1, Wit wthR
o TS I, Soh YEU H ST, Tfdneor, e 3 armet o fore ush e Y w@eam %
Y6 T oft ?

o S AT Sfeam (RBI)

National Institute of Bank Management (NIBM) was established in 1969 by which of
the following, in consultation with the Government of India, as an autonomous apex
institution for research, training, education and consultancy in bank management ?

Reserve Bank of India (RBI)

19.

1< Trasia FisT 6t 3rafer s oft ¢

What was the period of 11" Five Year Plan ?
2007-2012

20. fr=fafea @ @ a1 1991 § 78 anfdies fifa (Trgdh) & Tad TS U HRIsHHT
1 fean 72 o ?
YA TG T THIRISH
Which of the following was not a part of the structural adjustment programs under the
New Economic Policy (NEP) in 1991 ?
Balance of Payment Adjustment
21. 13 feEsR, 1946 = Gfagm au # “Iewd T&qmE (SATssifaed fEegw)” fhaeh gra uer foha
TR T 7
TG EE
“Objective Resolution” was introduced in the Constituent Assembly on 13 December,
1946 by whom ?
Jawaharlal Nehru
22. ToRE 31T o TEd SATTAShRT oh G HifcTeh JAThi ol ot Fetferd forem St deha 8 2
T 359
The Fundamental Rights can also be suspended during the Emergency under which
article ?
Article 359
23.  Tofes yammEl e AsheHIes §RI MR TR HAvETe JWehR efcifad # o frue

oy o1 ?
fedfia Mo e

The Communal Award coined by the British Prime Minister Ramsay MacDonald was
the result of which of the following ?

2" Round Table Conference
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24, AR GfeT 1 N HT 3TeRe JEIwEl % shdeat bl aRWING Sidr B ?
ITTE 167
Which Article of the Indian Constitution defines the duties of the Chief Minister ?
Article 167
25, ‘TArehad 3R foeh o fof Tt U1 FRAHi o JegR W Ueh SRV 93 IR i o fofg
forer iy 1 e o e o 7
.. e gfufa
Which committee was appointed to prepare a concept paper on ‘Revitalization of
Panchayati Raj Institutions for Democracy and Development’ ?
L. M. Singhvi Committee
26. HISH % f$881 (cans) T TSk o €M W Hfctiad § & forer 41q 1 10 TRTRIT ST & 7
fe
Food cans are coated with which of the following metals instead of zinc ?
Tin
27. 37T % UTH fohdl TR o1 STeTeeh T 918X BieA § CO, Fehear g 7
Hifsan STEhEie
By releasing excessive dry powder of which chemical near the fire gives off CO, ?
Sodium Bicarbonate
28. eerie feferfiad § @ fora firgia/fem s a2 7
nthfirds 1 fergia
Lactometer works on which of the following principles/laws ?
Archimedes’ Principle
29. TR IFE IR HUHRUSA (CFL) # F=feifiaa o & fore a1g &1 o g @ 51 S9hid 8
faten g g 7
qra
Fluorescent tubes and CFLs contain vapour of which of the following metals that is
toxic in nature ?
Mercury
30. formmaHie o1 3uam fetafigd 5 9 ford v o foe femn sman g v
THA
Sphygmomanometer is used to measure which of the following ?
Blood Pressure
31, (-27) x (—16) + (-27) x (~14) FIHAA &

The value of (-27) x (—16) + (-27) x (—14) is
810
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32. <E ot S HmA § 25% i G 5 & | Th TRER i ¢Hl = 6l @ua fohe whrerd H et
SET dTfeh 36 @Td § @< 7 9¢ ?

The price of Desi Ghee has increased by 25%. By what percent should a family reduce
the consumption of Desi Ghee so as not to increase the expenditure in this account ?
20%

33. TmAfafga g @ ((341)%! x (625)317 x (6374)!793} & B H ghTS 375 DHH AT S ?
Which of the following is the unit digit in the product of {(341)*! x (625)*!7 x
(6374)1793} 2

0

34. MG 12422432+ ... +102=385, a1  32+62+92+ ...+ 302 TR 7

If 12422+ 32+ ...+ 10> =385, then 32+ 62+ 9%+ ..... + 302 is equal to
3465
35.  Ffe (0.04)2 + (0.008) x (0.2)6 = (0.2)Y, a1 Y FTa hifsw |
I£ (0.04)2 + (0.008) x (0.2)° = (0.2)Y, then find Y.
7
36. 3oy wreg o1 wf-foeag =9 Fifs |
Sftfer + 3w
37. fafafea o @ e foerea o Tyt v vafgem=h 78 & 7
Fsfter, werm, TR
38. ffafad 4 @ forg faereu § wreg syferam fiyaneles o1 adt srd-vg 7 8 7
31eE JH ad-ug
(B) fa - et T - fRwmar
39. & 1 [T HIAT HeTek 1 T 1 g s aAn g ?
e & |
40. A 3T fha Bl H1ITm R ?
IETATA agagt

41. Fill in the blank with correct preposition :

I have never looked on a face that was so devoid feeling.
of
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42. Give synonym of underlined word :
He sat there disparaging about the legal system.
Criticizing

43. Give one word for :
The original inhabitants of a country.
Aborigines

Read the following paragraph and answer the following questions : (Q. 44 and 45)

In the United States someone legally becomes an adult when they turn 18 years old. At
18, U.S. citizens can vote. They can also serve in the military and go fight in wars for the
country. An 18-year old can also buy cigarettes and other tobacco products, but 18-year-olds
cannot buy alcoholic beverages. People in the U.S. need to wait until they are 21 to be able to
do that.

At the age of 18, people can legally live on their own, work, and get married. However,
turning 18 doesn’t mean everyone is ready to take on adult responsibilities. At the age of 18,
most people are just graduating from high school. Many will go to college. Some young
people choose to go to college far from their homes and live in dormitories. Others pick a
college close to home and stay with their parents to save money. Yet others will choose to
live on their own. Legally, a parent does not have to provide for their child when the child
turns 18.

44. In U.S., what is the minimum age required to join military ?
18

45. Which is correct from the followings with reference to U.S. ?
Children may live with their parents even after 18.

46. fc vreq) =1 TeaRd < STTHR el fopam ST dl 3ferd & gHL S Tt R AT ?
If the words are arranged according to the dictionary, what will come in the second
place from the last ?
1. Spastically 2. Spasmatic
3. Spasticity 4. Spastic
5. Spasmodical
Spastically

47. A I T Ufh H, Tt ST 3R JE U gUE, P1 ST BRY 99 TIH W g 3R P2 3¢ BR
Y124 WA W E | P1 3R P2 % offa dH AR E | P1 3R P3, P4 4 &M gl T | 1 <hifo fop
qfeh & fohe SR & |

Frerifea =2t foren st wepan

In a row of Pigeons, all are facing north, P1 is 9™ from the left end and P2 is 12" from
the right end. There are three peacocks between P1 and P2. P1 and P3 are equidistant to
P4. Find how many Pigeons are there in the row.

Can’t be determined
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48. T H< WM H, PERMUTATION &I IBKFRMXMFLG fo@n Siar & | 38 9w &
PUBLICSECTOR %! & foren smam 2

In a code language, PERMUTATION is written as IBKFRMXMFLG. How will
PUBLICSECTOR be written as in that language ?

IRUEFVLBVMLK

49. TH UL GIE 8 T e hI Il § | Ll 24 B H 10 e M 9 I & | 5 gE feH uh
IS | 1 1 THY SdTd] & a1 SRioish T8 41 I 7
12 STt 48 fiFe

A clock is set right at 8 a.m. The clock gains 10 minutes in 24 hours. What will be the
true time when the clock indicates 1 p.m. on the following day ?

48 min. past 12

50. 93 H @ Y 1 I feu MU & | A e A1 1 AT IO & Gehd & AT S HION A7
HTHT= I < TWTE &l Eehel & | $TH & Toh heH QUL He 1 THTE Bl Hohdl & | QI HeHT
1 Ue 31 fvia o fop fr=feifiga § 9 = @1 Sor faehe 39 SF1 %A1 < o= g9y &1 98t

Y g |

$Yq :

. TR 3 WRd % @t Afgehet ikl § a9 & fo1T Teh € yarer qdiet SRfSa i =
foofar formn 2 |

II. TSI EHR A 3 TSI o BT bl T o HiSehed Thictsll shl HIT o TAT 3TTeled i §
Teh fea 2 |

21 e 1 3T 11 foreft g o & g9 £ |

In the question two statements I and II are given. These statements may be either
independent causes or may be effects of independent causes or a common cause. One
of these statements may be the effect of the other statement. Read both the statements
and decide which of the following answer choice correctly depicts the relationship
between these two statements.

Statements :

I.  The Government has decided to hold a single entrance test for admission to all the
medical colleges in India.

II. The State Government has debarred students from other States to apply for the
seats in the medical colleges in the State.

Both the statements I and II are effects of some common cause.

51. B &Y, TG o1e7 31feehR TRemor ST (THEEHISR) 3 9761 S@vTel GEAMI i T
g 4 fam o freaty frdero o foe faforfiga 3 @ < o uwefiersm fosrfaa i g 2
Recently, National Commission for Protection of Child Rights (NCPCR) has developed which

among the following applications for Seamless Inspection for real time monitoring of the Child
Care Institutions ?

MASI
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S52.

TS & 8, WRa 3R Fefetaa | | fopd <1 o Aa1eti A SiofaTy Hewrenia, EienTe g
IR e Hal W TGN S M 3T uIfet o JUATHEH L T e & 289 99 & @1
iors Y9 T % foTu firetent oM % <l dfdegar SaE 8 7

T I SHWG (JITF)

Recently, the leaders of India and which among the following countries committed to
enhance cooperation on climate ambition, decarbonization and clean energy, and work
together to have meaningful outcomes from the 28" Session of the UNFCCC
Conference of Parties ?

United Arab Emirates (UAE)

53.

C 9 TEEdt 2020 GURIE o T oY S 3TEER W TRINSTdT ST SETeEl i |Ien i %
TTY-TT YA Hichfcieh 1T H T[orerarqut f¥reror Femert = wg-fasm o fore wamsanmg
(NIOS) s |1 FHEIAT 19 (MOU) T 818 foh |

ATSTHTAIENET (ISLRTC)

signed MOU with NIOS to share expertise and resources, as well as co-
develop quality learning resources in Indian Sign Language on the occasion of 3™ year
of NEP 2020 celebrations.

ISLRTC

54.

frefarfaa o @ forem grar € & v o wfdregar wifdfeufaess @ 1 aed s & foft NAPS
(AT TR THIIH ShH) § DBT (SRREE SH{the SE®H) di-d fhar g ?

ot oilg g™
Who among the following recently launched DBT (Direct Benefit Transfer) in NAPS
(National Apprenticeship Promotion Scheme) to strengthen apprenticeship ecosystem
in India ?

Shri Dharmendra Pradhan

55S.

o - fagm o mmai § gfg % wru fefaied 9 8 fr8 < 3 TP stmaTdeR i
YT 6T ?
¥e

Which among the following countries declared National Emergency due to spike in
Guillain-Barre syndrome cases ?

Peru

56.

o

WRA o FHAfARad 8§ ford TeTel ¥3M i IEh! o1 TR Sfifthe drshiaen foEd TR
e ¢

TG 1a WIH, HERY

Which among the following railway station from India got UNESCO’s Asia Pacific
Cultural Heritage Award ?

Byculla Railway Station, Maharashtra
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57. WG TR 2030 T Sotl o0 H 3l TFER 15% T 96 &1 A&d W17 |
BIEARE ]
The Government of India has set target to raise the share of in the energy mix to
15% by 2030.
Natural Gas
58. &1 & H AN 3gI W, ot senfatfeca ffeR 7 Schett gaTS- 378 i STHTeA foha & ST WRd
o Tfoifiaa § & fore TS § UDAN <1SHT o & Ueh &Ff1 gas-3781 © 7
e
Recently Minister of Civil Aviation, Shri Jyotiraditya Scindia has inaugurated Utkela
Airport that is a regional airport under the UDAN scheme in which of the following
states of India ?
Odisha
59. TYH TA TN o Ffaifed o @ ford T 7 31zar weH 1 “feg forrea #g” =nifta
forama 7
KR
Which of the following states of U.S.A. has declared month of October as “Hindu
Heritage Month” ?
Georgia
60. T g H f=forfad § 9 forg exr 9 “Oiee 9k ATHeh Wb T U TSt SR aTed
ot fesre 3 fmior feram 2 2
Recently which of the following countries has designed and manufactured an
autonomous robotic undersea warfare vehicle named “Ghost Shark” ?
Australia
61. TR ved Sf@eT § feord Ak Tgre ferel o1 A Sramd fo8 “df $77ed 1% < T & S
ST |
e feer
Give name of the popular hill fort located in Sahyadri Mountain Range that is known as
“The Eagle’s Nest”.
Torna Fort
62. TS AR TE ATERTe TR i, FH5 3R a1 W ATEfe S o & § Ichy el
& foTu Tat= TE T 2 | 59 QR % foT Fehe TUEhR T 1 3 7
159"
The Tenzing Norgay National Adventure Award is the highest national recognition for
outstanding achievements in the field of adventure on land, sea and air. What is the cash prize
amount for this award ?
15 Lakh
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63.

e (i % ae) frem sifees & srefume =1 yrfires go ure wite 8, freafafea 3
T fopmes g ot mam ot 7

DHGHh

Nitisara (The Elements of Polity) which contains the earlier foundational root text of
Kautilya’s Arthshastra was written by whom of the following ?

Kamandaka

64.

frfefed § & 1 a1 f7 & 91e STRIg™ Srhfaeh 3TTaer Sfew =fie foeg o &9 4§
TR ST g ?

13 3RS

Which among the following days is celebrated as the International Day for Natural Disaster Risk
Reduction every year ?

13™ Qctober

65.

T 1 T o TR 3hl UTATTehIC HTET h1 TV 99 TGH ohid aTell aTrHa fedt TeH WRd
o fafaftga o 9 forg Tsu/Sgenfad weo d fa 3 7

e o

Tamia Hill station that provides stunning view of the horseshoe-shaped Patalkot Valley
is situated in which of the following States/UTs of India ?

Madhya Pradesh

66.

frfaiaa O o form a9 o YRA ATRET 1 &6 TroT 9rfieR (ITéR) ST 7

India became a sectoral dialogue partner of ASEAN in which of the following years ?
1992

67.

TR <utt sl 3eh! TstaT=I & Guferd it ;
() = — (a) &M

(i1) ST — (b) HAHI

(i) @1 — (c) FqHH

(iv) s&fd - (d) femeft

Match the following countries with their capitals :
(i) Zambia - (a) Havana

(i) Cuba — (b) Manama

(iii)) Rwanda — (c) Lusaka

(iv) Bahrain (d) Kigali

(D)-(c), (i)~(a), (iii)-(d), (iv)-(b)
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68. T foraT 3T gt BT TR <Rl T Gt Yo §H shl Tthe hefl & | I8 WRA o FHeferiad
T fora T AT HATE 7
Jnifesm

Jhoti Chita and Muruja are white art to create beautiful patterns on the floor and walls.
It is an art form of which of the following states in India ?
Odisha

69. T % WM RV Fo&I0T 1 hH 10 3T, 1802 i HEZTE H I[E 5T 96 HETH CRITR
T G Teh ST HTH TohalT 7T o7 | SAHM § HETH SesTeT bl fohd A1 | STHT S g ?
WA T - sitferehl Heem
The work of the Great Trigonometrical Survey of India commenced at Madras on April
10, 1802 when a baseline measurement related to the Madras longitude was made.

Currently that Madras Observatory is known by which name ?
Indian Institute of Astrophysics

70. Tr=feiRaa o & = @1 WRd 1 9gent DBOT (fesite, i, H=med 3R g%diauon) disd
PSR wfeay B ?
Wil &, foreaaqm
Which among the following is India’s first DBOT (Design, Build, Operate and

Transfer) model outdoor stadium ?
The Sports Hub, Thiruvananthapuram

Fr=foTRaa T bl Ugeht I8 TTT SR o ST GHINT ¢ (3. 71-75)

W U 7 8, 5 fogm, Tawardt 3k Aifawm | 98 389 TsT < 9gd Tfdfsd A 8 | 379
Torem & e =t Tpfd firerd) & | 7l o8 SR A R B E, auli g g v E e ¥ 1S
T H IZ T TS 914 ¢ b T9 TR | EH 2Rt i AfE iE 3w | w1 g, 1 Uier-A SR W H
S g | § oft o ST § | W 3w i <Rl Rk oft foh < s gaun <Ed g ot § 59 we e |,
ST 39 QR o fordl ST AT TSGR & Seh! WeeMT 2 ot &1 § | 98 Toh WL 3709 & | i
S | T offsT T ZIagl 1 W UM @Rt i 78 TR O gt ke o, 99 € 39 § 3R
T $B 3T g goit |18 3 | wios 30 3 & G A2 hom 58 TR Wi fudmg
1 &7 T foram TR | At <X Aok JAA BIeht AT TET 3R W H uTdee 1 i 3TEE™ g3 |
Tl T, S ST A1, Tl at wfersy g 7€ Sum | Iaue & i 01 BT 7 ? BB T
Toh T T TET1-9 &1 S¥eh T8 7, hraed Afersy ft o1 72 sham | 3geht wimn ot a1 g &
2 | U &R ¥ fid T 3R 31 q SR i fudreg e T2 fRar | wfosy faee
STHIES 3 | HIh! U ETG WA gL 33T | F i 71 § | 37 f&dl o foramaren w13 s g1 < &,
a1t g3 IF IBdT & ? 95 FHI-ION W IS © | I w1 H, FH H, UfaW H §gd W | g9
hig S8l g | Wiy’ e AEIgh TR g3 fohet Fell o o amer 18l & | S5 &1 a1 o & A
gt TSeht it &1 wendt 8 | g1 =11 99T 81, T9EE, g9 df 9 dF 8, T 7E 3, 92 Ted el
HIAANG H |
71.  TREeh shl T 1 91 R AT 7

G ST ITeh I HGIhRI bl Wiorsa heft &1 & hm wi&t SfisH =t 311 qeh &
Tt foam T |
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72, ofisH foame i aqwn o 12T foha TR ?
I <hl G T e 3 o) ST R 99 @Rt i HiF oo fema o |

73. G ! forg guneieiy 9 e faefi v
wEeh st 7 & 3R I rEeAwT ¥, I, AW 9ga 3 §gd § [T AN
WIS 7, I8 Wi TTveh HEIg Vg § ST 91T |

74, TARH, T e W eI 1 ki |1 372 ek AT 7 ?
Tomeft oft firereft 3 1 37FT |

75.  ‘HoHAT HI T ddd g 7
e 3 fowe=hr

FrefoTRaa TensT bl Ugeht I8 TTT SR o ST G : (3. 76-80)

g had STHH 1 ZheT & 8 Sfcsh SARI TREpideh fEd 8t & S g6 319 qasi
WO % &9 H Wed Bt g | e 7w a9 g €, e o 8 3 91 o §-gu ST e
hEATAT & 3TN 3Geh! Tefiaar sk ol qidzrar hl ugel! @l 2l 2 | W8 & Lo U <hl dmnati o
S o Tl safd T o, S, T A1 e $9 ot 8, ST9E H Wg g1 Wi § | T2
ToTe ST 3T ST AT, 3Heh! T aoi faehta o feTt s o6 <hY WiaeT Tsdiadt shaard! 8 |

v =afad foret gEt =afda @ o, Sfd, Fd 3G o YR T SHIER HIT § 1 I5eh! 318
g &1 ATt 7 | TSRt Y Afard w1 8- S wefiekar, ao € 8w &l e ue |
HETeHT e, foeTeh, GUTSaS |19 3AT(C o BRI & Tl Iotdl & b TEAT Sl WIaHT & HROT 32
IAMHT % I3H U fobg o 3104 T 1 3 | Afea o1 Tt 31fedea M W@ @ fog
ureafies aeft rat 6t Srenst S et wr HE antee aut geht Hifaat-Ofat s wE o
gohal & |

SE-98 HRA H e TS, q9-a9 faeReE 3 wed fr | =g Siforra HewE & A wiea-
T SAfFd 3T 1Y ISH T LT Icd SHUT | 3T ¢ H 3 ThR & e o1 1@ & | hal
THT <1 Ikt TEY &1 T&T & A1 hal & AT &1 o 1 T AT ol fHehTett 511 Tat 2 foreent uftorms gam
T 2 | 3TEHT 30 378 H R ST @1 B | Soled®y TSR Sie o1 37979 UReIferd &1 @i e |
e TR TSAT 319 T <TI0 HEBf <6 36 Yo T Bl eToht <1 <hl ST ohi TTerd fEemm &,
Te-T6 . G o e SRR, Fe, Jafaliy, T8-4g 8 FTeTd SIH ol 3R HehT HIEGT 37 STEd
27t =BT B |

31T Teh ANTES AT o €9 H gH 38 91d ol a8 & THFd §¢ G0 Tavel ol e
319 HA 1 HGIANT AT =11eY, F&8 I ¢ AR wfafie g o fore Frmomeres foem g &< |
ST, T 3TN o & HUR ISR 3T AT o6 ATOT | qoiferd gQ o B fordehydies <1 % IeorH
T 39T TEANT ST =R |
76. afda 1 gfee e Tpiad & Tt 8 ?

St safe el sfar, et 3nfe =l @ aFA S |
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77. Ueh SNT&eh AT o ®9 H HR] &1 haed & ?
o, STfr, WTST 31T o Jo0 WANGH ! ATt Teh GAT 3R HHS Afth bl A ¢ |

78. < H T 9T 3Tk YohR o T ohl oI JRUTH BT 8 7
JTIEt ForT 3R gy AT X G | TSaeh Sl shl 70 A e SgH | Wag et |

79. TS, WREhiqeh 3R forEd shaeT: i Y TR hIgal & ?
&, ey SR

80. ‘Irafeiy’ vrec H fopg TR hI @it g ?
ferert wfer

Fr=faRaa wrga 91 1 SYEes STERE S 3R i feu e It 6 3w : (3. 81-85)
I ot o h SIS & T R | Tk STt Bl iers okt A 31 Tl fewn # wmn s wwe
I ST H AT G Ueh R ol TR i H T STe] 9 <61 N W@l T (TS 1) H fean & |
TS (SHTHTR H) 3R Forodia feem o A td 99 T g8t i IR T § A 1ol S0
(AHhS H) | (1 SHMHIRT = 10 HeR)

Study the following line chart carefully and answer the questions given below : (Q. 81-85)

Below the pair of five trains are given. The sum of length of each pair and the time
taken by trains in each pair to cross each other when travelling in opposite direction is given
in the line graph.

Length (in decameter) and Time (in sec.) taken to cross each other when travelling to

opposite direction. (1 decameter = 10 meter)

--@-- Time —e—Length
90

80
80
70
70 66
60
60
50
50
40
30 25
0 20 ...
e *
12 . 10 12
0] ¢ L g
0

A+B  B+C C+D D+E E+A

81. ¢ ¢4 B 3R A D QHI et famm H = s @1 8 d1 3eh g1 Th g8 ol TR A H foran
AT STHTHT FH 1 hIT |
9.78 Ths

Find the approximate time taken by train B and train D to cross each other if both are
travelling in opposite direction.

9.78 seconds
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82. 37 A gNI ST C ol IR i H foram mam v sira hifore afe o weh € fesn A amsn s @ 2 |
86 Tehe
Find the time taken by train A to pass train C if they are travelling in the same
direction.
86 seconds
83. 3fe 31 E t ffvad oiams & wiewid &1 50 Yeohs H IR Ll & dl ¢ D g SH! &iehiH i
R S § foram s e i it |
91.82 T
If train E crosses a platform of certain length in 50 seconds, then find the approximate
time taken by train D to cross the same platform.
91.82 seconds
84. o A T U feoett <t amm o & ot Jafes ¢4 D feoett & veT it amn s & oft | 3 A,
&7 D % 2 H 9 Teidt | Al gt oA feeeft & 297 foprft it gt W forerdt &, @t wem &
feeeft o st <Y armTfia gl ma i |
529.2 fopdft
Train A was travelling from Patna to Delhi while train D was travelling from Delhi to
Patna. Train A started after 2 hours of train D. If both trains meet at a distance of 297
km from Delhi, then find the approximate distance between Patna to Delhi.
529.2 km
85. ¢ B 3¢ C &RE X 8 WA Y 31 T gl § 414 Toptfl @ 7, T a0 L & o | A

ST Toh & 99 T EIH Y W a5 dl F1d it foh g7 C 3 (TT) Toha 3 a1e, 37 B
JRIH X I BISTEAT ?

5.96 ©¢

Train B and train C were travelling from station X to station Y which is 414 km apart.
If both reached the station Y at the same time then find after how much time

(approximately) of train C, would train B leaved station X ?

5.96 hr
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Fr=farRaa org 91 1 SYEs STERE S 3R i feu 1o Wi 6 W E : (3. 86-90)
Fraforftaa o = faft simiferes & 1 v < Sireren o forawor (% ) o SR 8 ST ear e :

Study the following pie chart carefully and answer the questions given below : (Q. 86-90)

The following pie chart gives the information about the distribution of population (in %) of
India in different geographical zones :

Central

20%

86. Jfc WA % Q& & i HoA ST 126.5 et &, @ W o I &3 i ol S
v fepat 8 7 (fform o)
If the total population of east zone of India is 126.5 million, then what is the

approximate total population of north zone of India ? (in million)
80.96

87. W % ST &1 hl Pl SHEEAT IS &1 hi el SHEEAT § fohaH ATRA HA B ?

The total population of north zone of India is how much percentage less than that of
the east zone ?

36%

88. WRd H JENI 1 HigeTI3T| & T 13 : 12 8 3R Hs1 &7 H J&Ni ol HigeTlst 9 S 9 :
7% | 1 & T Aigenat o T W <l Afgetist 6l et T w1 fohan faerd g 2

In India, the ratio of males to females is 13 : 12 and in central zone, the ratio of males to

females is 9 : 7. The number of females in central zone is what percentage of the total
number of females of India ?

11

188

89. If¢ WA i HoA SHHEAT 125 HUS 7, T AT & 3T UfTad & h SHEEHT 1 AT
I (e o) TR 7

If the total population of India is 125 crores, then what is the approximate sum of the
population of south zone and that of west zone in crores ?

48.75
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90. TfTaH & hl ol SHHEAT T 50% T8 & S WA H Teul hl ol SHEEAT b 10% h ST
? 3fn afe ufvem & ¥ afgenstt f T SE@n 50 fuferem 8, @ wia ¥ geot F $a
G fehat B ?

500 frferrm

50% of the total population of west zone are males which is equal to 10% of the total
population of males in India and if the total population of females in west zone is 50
million, then what is the total population of males in India ?

500 million

Fr=farRaa arfetent aTE 1 SaHYEe 1A i IR - fo T wei 3 W T : (9. 91-95)
freafafaa afersnt fafir gt gro fafem geaet W < 18 e % 1 et 8 | @ gl

TR Yk ek ohT 3ifehd Yod TH 2 |

Study the following table chart carefully and answer the questions given below : (Q. 91-95)

The following table shows the discount % given by different stores on different books.
The marked price of every book on all stores are same.

TEF/Books GehF/Stores
1 | 2| 3 | 4
A 14% 25% | 18%
B 16% | 14% | 10%
C 12% 10%
D 6% | 9%
91. M 2 3R 3 H &I B 1 3Hq f5hd T 594 2 | GhM 2 | &I B 1 fohd god
CRIR

The average selling price of book B in store 2 and 3 is ¥ 594. What is the selling price
of book B in store 2 ?

¥ 580.5

92. THM | HIKih A 1 foshd Tod T 3957 3R M 2 3R 3 H Tosha god 1 37l % 36.825 2,
G 2 H TRTHT e fohaH Sfamrd 8 ?
The selling price of book A in store 1 is ¥ 395 and difference of selling price in store 2
and 3 is ¥ 36.825. What is the approx. discount percentage in store 2 ?

16.98%

93. fordm A = W GHH 1 I 10% 1 ATH [T & | SHT G&dsh T g 3 GRI ST fofarm 1
TG T /7Tt vt s g ¢ (Freheaw quries e quiferd i 1)
By selling book A store 1 makes a profit of 10%. What is the approximate profit/loss percent

incurred by store 3 on the same book ? (Round off to nearest integer)
4%
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94, THM 2 3T 3 T Y&ieh D 1 376 foIshal Gewt T 1,480 2 | J&eh D 1 3ifehd [od 1R 7

The average selling price of book D in store 2 and 3 is I 1,480. What is the marked
price of book D ?
31,600

95. gHM 1 3R 2 | & C W P Tfawrd ol 31 3:2 8 | Al R 1 | fosma gear 22207, @

g™ 2 1 forsra o o foRc 2 2

Ratio of discount percentage on book C in store 1 and 2 is 3 : 2. If selling price in store
1 is ¥ 220, then what is the approx. selling price in store 2 ?

3230

FrefarRaa SRt ST S TR i 3R - fou T 39 o ST : (. 96-100)
frfarRaa aiferest 5 wdiAt = fow 3 afemi & [ faa (p), feoieht foret (B) 3R ot & fora

(W) o Tardt &1 Tftn (2 ) ot 2

Study the following information carefully and answer the questions given below : (Q. 96-100)

The following table shows the amount of bills (in ) of 3 families, Phone bills (P), Electricity
bills (E) and Water bills (W) for 5 months :

qRER X / qRER Y / qER Z /
& A/
Family X Family Y Family Z
Month Total
P E|W]| P E|W|P E | W
e
1400{1000| 550 | 1000 800 [1500{2500({1000|11250
Jan.
Y/
1400({1100| 600 |1200|1600| 500 {1350 950 {10100
Feb.
T/
1500( 600 | 300 |1250| 400 1200{2400| 250 | 8500
March
e/
2500( 950 [1500(1600| 500 | 1500 1250| 350 {11400
April
g/
1100{1500({1200(1400|1150| 800 | 9450
May
i
¥4 8050|4100 3350({50700
Total

96. SHadt § fotelt X daw 31fereh TR 1 YA i et UHaR 6 B et 3R fesreft foaet w
A 1 TS Foof TR o offr ST T 3 2

What is the ratio between the total amount paid on Phone bills and Electricity bills for the
family who is paying the highest amount in January on Electricity ?

335:435
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97.

gftar ‘X’ grRI Tt o ferett o sprar st T8 Sfied it ufEr Y’ g o 6 ferett ot A
1 T8 37Ed Uiy 9 forat s1fves /a3 7

The average amount paid on Water bills by family ‘X’ is how much more/less than the
average amount paid by family ‘Y’ on Water bills ?

210

98.

TR Y’ GRS foreti oy <6t S T, fou e wEH 3wkt festet! feredl o a6
TTE T & o feha wferera 31l 2 7

The amount paid on Phone bills by family ‘Y’ is approximately more than what percent
by its amount paid on Electricity bills over the given months ?

12%

99.

T3 TE & foTe feu Tu 3ifehel & STER S wEH H uiEr ‘X’ grn ®F w1 faa, faereft @6
foret 3R Tt o1 foret TR ST <61 TS T H 12%, 16% 3R 25% Hiafg g8 off | S A
T 3G o1 el TR FTaT <6l 18 e TR 1 <hIfTT |

Given that the amount paid on Phone bill, Electricity bill and Water bill by family ‘X’
in the month of June was increased by 12%, 16% and 25% as per the data given for the
month of May. Find its total amount paid on all the three bills in the month of June.

2672

100.

S ATE H A1 aiam g festeft foeli ot yirae < T8 it Uit 3R 3 Aig § el
TRERl g Wi ferett TR YT < 71 et Wi it fehaAT ST g 7
What is the difference between the total amount paid on Electricity bills by all three families

in the month of February and the total amount paid on Phone bills by all three families in the
month of April ?

1250
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